Aufgaben 458 — 463: Stelle die Terme ohne Klammern dar! Vereinfache die Terme!

458 a) (at+b)a= ¢) (a-b)(-a)= o atbi-al= g fa-b(-bi=
bl (a+bjbe d) @-b)b= i Casbl-bi= " e =blialy
459 a) (a+bja-(a~bb= A (r+s)s—r(s—rn= e) (s—1(-s) -1 o
b) U=V)(—uW+u+Vv)v= d) x(x+y)+x-y)(-y)= fi +0t-6-HEUS
460 a) a’(a-b)= b) (a2 (a-b)= ) b?(-a-b)= d) (-b? (-a+b)
#1461 a) a?(a-b)+ab(a+b)—b2a-b)= c) a’(a-4b)+2ab(2a+b)-b?(2a-b)=
b) a%(a +b) - ab(a—b) - b?(a+b)= d) a’(a +2b) - 2ab(a - 3b) - b¥(6a + b) =
Probe fira=2,b=3
#1462  a) 4a2(3a%-2)+2a%(3a +4) - 3a(2a%+ 1) = Brobe furs =g

b) x(2x3-3)-2x3(3x2-5) - 9x(x - 1) =
c) a(@+2a2+3a+4)-(2a*+3a%+4a+5)=
d) x5x3-4x2+3x-2)-(5x*-4x3+3x%-2x) =

+463 a) 2a(-4a2+3a-2)-5(4a-a%2-2a%)= Probe fira=1,x= -1
b) 3x(5x2-2)—2(x—-4x3) + (-2x2+ 3)5x =

¢) (3a2-4a+7)2a2-8a(-4a+a’-2ad=
d) (~9x2+2)4x2+2x2(5x2 - 8) - (-7x*+5x%) 4=
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